ITHREZRREFOEEDERICHRIRHZ(ZDT)

Erae BRI S R R 644
ErEHH Frk29%E7H18H
BABRROE N ZERIHh D ERIE
& BT & 5 I-H-1471(1321001471)
[E] it £ L=
it = Hh ERmHEREMELL
HOFE O# B =R A BB £ KB FE A R i B ISP

' -\Jr SaRgT

\;T”{fr 17200, 000 j

Lo V- il N !

COMEIE, B EREORDEHR T, ARFKTOEF IR R25000R UEFE20AEZERHLI-LDTHL, (RBEF F29F74E.

u H(S 1200000) u X (S= 125000)
F1458)



ITHREZRREFOEEDERICHRIHE (ZND2)

BEDEINDHLHIM . FLLVEENEENDHHIHMDRER

2 18 71 0 ) fu B &S  1-5-14711321001471)

T

ALt i_éﬁg_ﬁﬂa;

EnEs B e 0445
| ErEHH FR295F7H18H
AEEE 285 E

R AR E L

BEDEETNDHLHLMORE (L KEZ R

ELLVEEDEE
NOHEHLHDX
1 (£ R K E A
E3:473=9)

TEZED(BE) SSHAIMUTOES.
T EEDBENCLDHH100kN/m*EiZ B 5

TEFOHBOSSMNIMEMR HXi

TN DR E

— AR




ITHREZRREFOEEDERICHRIHE (ZND2)

EnEs B e 0445
| &Ex%8H 2% 7H18H
BEOBINOHELN. ELLEEOSINDHEHOBER _ _ [ BEsE FH28EE
21 M o i E] BERIES  1-5-147101321001470] EEFRE TLRAT | PifEih IR REAERL

BEQBTNDHDE 0K (L5 KSR Ki)

TEE0 (Bl B ImUTOBA. 0 50 100 m
ZLVVEEDRT |TEEDOBHIZESNH100kN/m*Ziliz ZRiE [ I
NOBELMDE | 4 o a8 DS AImERZ HE L —
b (b S R e pr———
EEZ N " /. 1)
SRR ZHBIS DR —— B, T




ITHWXEERREFOEEDERICERLIEE (ZD3I)

~

ERES BB S TREMS
EBEMICERTALEESNIEEICETSEE &rRERAR F29ETA 188
[ =R e BES ] T-5-1471(1321001471) | BT A ] ST | T 72 8 TR 1 B R PR L
IEEOBRDIVEENOE LRI EAT 5 | TaE0RRCIVEEDNOE LRI-IEAT 5 IEEOBDIVEENOE LRI EAT 5 | TaE0RRCIVEEDNOE LRI-IEAT 5
LEEShDH LEEShDH LEEShDH LEEShDH
IRED BE) &N ITRED (BE) &N
MUTOEE. t 5% X TREOHREDNGEN | MUTOEE. t 5% | TREOHRENFEN .
U B DR | BB L5 HA TREADRE |5z s ThEsORS: U B DR | B8 L5 H A TRUSORSE | e ax ThEsORS:
100kN/m’ % #8% B X 13 100kN/m’% 8% 5 X i3
ADKES| THEE | IOARES| TAE | AIOAES| TRE | IOAES| TA% FADKES| THEE | IOARES| TR | AOAES| TRE | IORES| 1A%
DI3LRA| OBE | 03EBRA| 0B |03BRK| 0BE | 05BEA| oBs DI3ERA| OBEE | 03tRA| 0B |03BRA| 0B | 0odbRK| o5
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(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 2 = = 79.8 1.0 = = 9.3 1.9
2 3 = = 100.0 1.0 = = 15.2 3.0
3 4 140.6 1.0 100.0 1.0 16.9 3.4 15.2 3.0
4 5 136.0 1.0 100.0 1.0 16.6 3.3 15.2 3.0
5 6 134.8 1.0 100.0 1.0 16.5 3.3 15.2 3.0
6 7 138.1 1.0 100.0 1.0 16.7 3.3 15.2 3.0
7 8 145.2 1.0 100.0 1.0 17.1 3.4 15.2 3.0
8 9 145.2 1.0 100.0 1.0 = = 15.2 3.0
9 10 130.6 1.0 100.0 1.0 = = 14.2 2.8
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